BEfExER

SM2F1R1B~5M2512 431 H

(Bfz: M)
e ot (]
| BEODE
LRENEE
LeEe 11,445,089
TEite 3,605,033
CIE/N =9z 60,060
RS 460,504
MENEESET 15,570,686
2EEEE
V7 bhkozT 3,079,602
ENRAE 2,194,000
BE&EESE 5,273,602
BEAF 20,844,288
I BEDE
e =L
Bite 3,174,758
Kihg 454,762
FILER 42,549
SN YN 70,000
FINHER 285,800
‘Y& 55,262
MENBEEET 4,083,131
2EEBE
R#AXRILE
EEBEEET 0
afEsE 4,083,131
Il TERK B E D EB
135 EBREFE
O BERFE~DT L)
(S bREME~DILEE)
1B E ERBE ST
2. — PR IERREFEE 16,761,157
O BERFE~DT L)
(S bREME~DILEE)
— R IEBRIAEAET 16,761,157
IEBRBAE & 5T 16,761,157
BERVERMESS 20,844,288




IERRBAEEIRIRET RS

SM2F1IA1IA~PM2%5 12831 H

—fEAEEN BRI L7 by 2 —HERERS

(H4z: 1)
HizRES UNZS B3 FEUR ZE B
| — % 1E iR B EE 3Rk oD BB
1 R FE IR D EB
R U 2S
ZEHNSE 1,617,490 0 1,617,490
A= 46,210 0 46,210
BRFE | 18,692,100 0 18,692,100
EEESE L 5,952,645 5,952,645 0
HME - £ 2> —5E Lk 971,000 0 971,000
FEFE 880,000 0 880,000
ZDfbDFE E 0 0 0
BN S ET 28,159,445 5,952,645 22,206,800
75 £ B
B - EEK 454,234 0 454,234
B EE 445,067 254,407 190,660
Al 2 S EE 12,713,408 0 12,713,408
Bl - 7 F X b+ 2,489,260 2,489,260 0
5 LR & 5T 16,101,969 2,743,667 13,358,302
REEH
fBE5FH 1,540,000 1,155,000 385,000
R Ek<E 100,000 0 100,000
B E B 246,010 184,508 61,502
NoEE 4,992,665 1,055,403 3,937,262
IRE 2B 181,798 64 181,734
BIEE 443,847 93,825 350,022
ST E A0 1,026,534 230,625 795,909
HRRE 2,632,800 556,549 2,076,251
U — 28} 120,000 25,367 94,633
K IE S EER 14,295 3,022 11,273
THFEmE 160,044 33,832 126,212
FAFLER 167,600 35,429 132,171
E¥ s 29,830 6,306 23,524
RTINS 969,168 204,873 764,295
BEhE 29,600 22,200 7,400
REERASET 12,654,191 3,607,003 9,047,188
YHARR B IR EE A\ 596,715 /\ 398,025 /\ 198,690
2 B E S IE R D EB
R AN S 112 0 112
REANUNESEET 112 0 112
s E A 143,974 30,435 113,539
e/ ERAEET 143,974 30,435 113,539
HHERRRE AN IR RER A\ 143,862 A\ 30,435 A\ 113,427
b= EHRERE
Ft5 | 57 24 HE— A% 1E R B EE 1SR /\ 740,577 A\ 428,460 A\ 312,117
ENFRE 70,016 70,000 16
L HA— AR IE BREA EE IR RRR A\ 810,593 A\ 498,460 A\ 312,133
—REIERRA IR E RS 17,571,750 A\ 5,761,260 23,333,010
— AR IERRBAE AR IR S 16,761,157 A\ 6,259,720 23,020,877
I $& 7E 1E Bk B EE 38R oD &6
L HAFE TE 1E Bk B EE 35 R
ETF ERMERRE RS
¥ETE ERRBA ERACR IR S
. IERRBAZEHASR IR = 16,761,157 A\ 6,259,720 23,020,877




